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FOREWORD

The National Examinations Council of Tanzania is pleased to issue this report on
Items Response Analysis for the 2017 Advanced Certificate of the Secondary
Education Examination (ACSEE) in Geography subject. The report provides
feedback to students, teachers, parents, policy makers and the public in general on
the performance of the candidates and how well the instructional goals and
objectives were met.

The ACSEE marks the end of the two years of high secondary school education. It
IS a summative evaluation which shows the effectiveness of education and its
delivery system. Basically the candidates’ responses to the examination questions
indicate what the education system was able/unable to offer to the students in their
two years of the ACSEE.

In this report factors which contributed to the success and failure of candidates to
answer the questions correctly or incorrectly have been analysed. The analysis
shows that candidates with higher scores provided appropriate responses, were able
to understand the demands of the questions, had basic knowledge on the subject
matter, possessed skills in computing and drawing, and they also had a good
mastery of the English language and essay writing skills. However, candidates with
lower scores lacked most of those qualities.

The feedback provided is expected to enable the education administrators, school
managers, teachers and students to identify proper measures to be taken in order to
improve the candidates performance in future examinations administered by the
Council.

The National Examinations Council of Tanzania will highly appreciate comments
and suggestions from teachers, students and the public in general that can be used
for improving future examiners’ reports. Finally, the Council is grateful to all
stakeholders who provided valuable assistance in the preparation of this report.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

The 2017 Advanced Certificate of Secondary Education Examination
(ACSEE) in Geography subject covered the 2009 syllabus and adhered to
the 2011 Examination Format. The examination consisted of two papers,
One and Two.

Paper One consisted of two sections, A and B. Section A had four questions
from the following topics: Topographic Map Interpretation, Application of
Statistics in Geography, Simple Survey and Map Making and Photograph
Interpretation. Question number 1 was compulsory. Then candidates were
required to choose any one question from the three remaining questions in
this section. Section B had five questions set from Physical Geography
topics out of which candidates were required to attempt any three
questions. The candidates were required to attempt a total of 5 questions in
this paper.

Paper two consisted of two sections, A and B with a total of eight
questions. Section A had three questions set from Population and
Development topic and the candidates were required to attempt any 2
questions. Section B had 5 questions set from Regional Focal Studies, out
of which candidates were required to attempt any 3 questions. Thus
candidates were required to attempt a total of 5 questions in this paper.

This report analyses the 2017 performance of the school candidates who sat
for the ACSEE in Geography Subject. The performance in each topic is
ranked as weak, average and good if the percentage of candidates who
scored 35 percent and above lies in the range of 0 -34, 35— 59, and 60 —
100 respectively. The report is intended to give feedback to the educational
stakeholders on the performance of the candidates on each question by
showing what the candidates were required to do as well as the strengths
and weakness in their responses.

A total of 34,100 candidates sat for the ACSEE in Geography paper out of
which 33,711 candidates (99.19%) passed while 389 candidates (0.81%)
failed. Generally, the performance in 2017 increased by 0.23% compared to
that of 2016 in which 98.96% of candidates' passed and 1.04% of the
candidates failed. Samples of the candidates’ answers are attached to
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2.0

2.1

211

illustrate their responses. It is expected that the report will be useful to
educational stakeholders and will enable teachers and students to improve
the teaching and learning process in Geography subject.

ANALYSIS OF THE CANDIDATES' PERFORMANCE IN EACH
QUESTION

The Advanced Certificate of Secondary Education Examination (ACSEE)
in Geography subject is designed to test the candidates’ ability to
comprehend and apply knowledge in new situations; demonstrate analytical
and reasoning skills, interpret geographical phenomena such as physical
features, photographs, map work and draw conclusions from those
observations and interpretations. Questions expected candidates to handle
more of the higher order tasks.

113/1 GEOGRAPHY PAPER ONE

SECTION A: Topographic Map Interpretation, Application of
Statistics in Geography, Simple Survey and Map Making and
Photograph Interpretation

Question 1: Topographic Map Interpretation

This question consisted of seven parts in which the candidates were
required to study carefully the map extract of VANGA sheet 111/1
provided and to: (a) calculate the area covered by mangrove swamp at
Upwa Island, (b) describe the nature of transport and communication
system of the mapped area, (¢) comment on the population distribution of
the area and briefly explain three factors that have influenced population
distribution at Vanga area, (d) comment on the nature of vegetation found
in the area and state if there is any relationship between climatic conditions
found in the area with the vegetation cover, (e) identify the economic
activities carried out in the mapped area with the support of examples, (f)
determine the functions of Vanga sub-urban with vivid examples and (g)
describe four factors that have affected the composition of the mapped area.
The total marks allocated for this question were 25.



VANGA Sheet 111/1
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The question was compulsory, therefore it was attempted by 100 percent of
all the candidates whereby 40.6 percent scored from 0.5 to 8.5 marks, 51.8
percent scored from 9 to 14.5 marks, 7.5 percent scored from 15 to 25
marks and 0.1 percent scored a 0 mark. The general performance in this
question was average since 59.3 percent of the candidates scored 35 marks
and above. Figure 1 below illustrates the candidates’ performance.

100 -
90
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70
60 - 51.8
50
40
30
20
10 -

0 -

40.7

Percentage of Candidates

7.5

| I

0-8.5 9-14.5 15-25

Scores

Figure 1: Trend of Candidates’ Performance in Question 1.

The candidates who scored from 15 to 25 marks were knowledgeable on
Topographical Map Interpretation especially on the concept of
measurements of areas, interpretation of economic activities and climate as
well as the understanding of various components and features on the map
as they managed to: (a) calculate the area covered by mangrove swamp at
Upwa Island which was 10.5km? they were able to apply correct
procedures and formula whereby in the first step, they counted total number

of squares. Full square=0, Half squares:%1 total number of squares = 10.5,

in the second step they calculated the area of one square= the length of one
side of square = 2cm and map scale = 1:50,000 therefore the area of one
square = (side x side) or side? = 1km x 1km=1km?. Finally they calculated
the area of 10.5 square. Therefore, 10.5 x 1square=10.5km?.
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In part (b), they were able to describe the nature of transport and
communication system of the mapped area as land transport because it is
the most dominant type of transport and communication in the mapped
area. In part (c) they commented on the population distribution of the area
as unevenly distributed because there are some areas where there is high
population as compared to other areas. For example areas around Duga,
Mafoloni, Mayomboni, and Nikanyewe have high population as compared
to Mahandakini and Chuini where there is spaced population; they also
explained briefly three factors that have influenced population distribution
such as: Transport and communication. Many people tend to settle along
the main roads and tracks. Secondly, Social services, was a determinant for
population distribution at Vanga area. Areas with good social services like
market, schools and roads have been marked as having high population as
compared to areas with poor social services. For example, along the main
road from South West to North West. Thirdly, Nature of the relief was
another factor that has influenced population distribution, as areas with
gentle slope and steep slope have low population as compared to areas with
low land.

In part (d) the candidates managed to comment on the nature of vegetation
found in the area as: In most cases the mapped area is covered by scrubs
with little woodland. However, there are also scattered trees and palm trees.
For example, area around north east is covered by palm trees with
woodland while the remaining part of the mapped area is covered by scrubs
which are dominant with little scattered trees. They stated that there is a
relationship between climatic conditions found in the area with vegetation
cover. Therefore, the mapped area has a dry climate.

In part (e), they identified the economic activities carried out in the mapped
area with a support of examples. Such economic activities include:
Trading/transportation due to the presence of all-weather roads and other
trucks which cover almost all parts of the mapped area. For example, the
main track from South West to North West and the presence of a market
(MK) around Mwademu in North East. Secondly, Agriculture due to the
presence of scattered cultivation that covers almost the whole part of the
mapped area and sisal estate at Moa and Mtochovu area to the Eastern side.
Thirdly, fishing due to the presence of an island such as Upwa and some
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rivers such as Kiburuzwe flowing in the mapped area and the existence of a
dam near Geza.

However, their marks varied from 15 to 25 depending on the strengths and
accurateness of their responses as some of the candidates did not get all the
items correctly. Extract 1. 1 represents part of such a good response.

Extract 1.1
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A = / .Qm‘p
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/| «wquare
Areag = 10-& ko ?

&) - Land Fransport

Thie 1« dve o the preverce o All weather
road _grom gndreference 152750 fo grrH reperence
108895
Extract 1.1 is part of a response from a candidate who managed to answer
the question well. In part (a), he/she was able to calculate the area covered
by mangrove swamp at Upwa Island and in part (b) managed to describe
the nature of transport and communication system of the mapped area.
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The candidates who scored from 9 to 14.5 marks had several strengths and
weaknesses in answering this question. For example, in part (a), some
candidates managed to identify the correct number of full and half squares,
correct conversion of the map scale into ground scale, thus they were able
to calculate the area covered by mangrove swamp at Upwa Island.

In part (b), some candidates failed to describe the nature of transport and
communication system of the mapped area, some described partially the
nature of transport and communication system of the mapped area while
others were able to describe the nature of transport and communication
system of the mapped area with supportive evidences from the map.

In part (c), some candidates managed to comment on the population
distribution of the area but failed to explain briefly three factors that have
influenced population distribution at Vanga area. Some were able to
explain briefly three factors that have influenced population distribution at
Vanga area but failed to comment on the population distribution of the area.
For instance one candidate explained settlement patterns such as linear and
scattered settlement instead of commenting on the nature of population
distribution of the area. This candidate might have confused the two related
demographic terms ‘population distribution' and ‘population settlement.

In part (d), some candidates managed to comment on the nature of
vegetation found in the area and explained the relationship between
climatic conditions found in the area with vegetation cover, others were
able to comment on the nature of vegetation found in the area but failed to
establish the relationship between climatic conditions found in the area
with vegetation cover, while others misconceived the question as they
explained types of climates such as Tropical climate, and Equatorial
climate instead of climatic condition of an area.

In part (e), some candidates were able to identify the economic activities
carried out in the mapped area but they failed to provide examples from
map extract to support their answers.

In part (f), some were able to determine the functions of Vanga sub-urban
with vivid examples and in part (g), some mixed up relevant and irrelevant



answers. The variation of marks was influenced by the strengths and
weaknesses of their answers.

The candidates who scored from 0.5 to 8.5 marks misconceived some of
the parts of this question, as they provided incorrect responses contrary to
the demand of the question. For example in part (a) some candidates were
able to identify full and half squares but could not calculate the area.

In part (b), some failed to describe the nature of transport and
communication system of the mapped area measured instead they
concluded that it is good due to the presence of roads, railways and
telephone lines.

In part (c), some were not able to comment on the population distribution
of the area but managed to list without explaining factors that have
influenced population distribution at VVanga area, some mentioned the form
of settlements such as: linear settlement, nucleated settlement and scattered
settlement which were wrong responses. Others commented that population
distribution is dynamic due to climate and soil fertility. Probably they
mixed up the two concepts of population distribution and settlement.

In part (d), commented on the nature of vegetation found at the area as
attractive and good because it allows full and well growing of plants and
failed to state the relationship between climatic conditions found in the area
with vegetation cover.

In part (e), some mixed up social and economic activities carried out in the
mapped area.

In part (f) some were not able to determine the functions of Vanga sub-
urban with vivid examples instead they stated that the function of Vanga
Urban is to keep the vegetation of an area like shrubs and trees.

In part (g) some provided relevant and irrelevant factors that have affected
the composition of the mapped area like: growth of towns, employment,
unequal distribution of social service and contour lines. Therefore, this
shows that the candidates lacked knowledge and skills on the
Topographical map Interpretation especially on the concept of determining



directions and measurement of areas as well as understanding features on
the map. Unsatisfactory responses led to the candidates to score low marks.

Very few candidates (0.1%) scored a 0 mark. These candidates showed lack
of understanding of basic concepts of Topographical Map Interpretation.
They failed to provide correct responses in all parts of the question. Extract
1.2 is part of a response from a candidate who performed poorly in this
question.

Extract 1.2
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Extract 1.2 shows part of a candidate's response who provided incorrect
response in part (a). He/she failed to calculate the area covered by
mangrove swamp at Upwa Island from the first step of identifying full and
half squares.



2.1.2 Question 2: Application of Statistics in Geography

The question required the candidates to study the data in the table given
which showed the quantity (in thousands tones) of pyrethrum produced in
Kenya from 1980 to 1989 and then to answer the questions that followed.

This question had three parts, (a), (b) and (c). In part (a), the candidates
were required to present the data using divergent line graph, in part (b) to
comment on the trend of production and in part (c) to give two merits and
demerits of the divergent line graph. Total marks allocated for this question
were 15.

This question was opted by 87.5 percent of all the candidates. The general
performance in this question was good since 82.5 percent of the candidates
who attempted it scored 35 marks and above. Data analysis in this question
shows that 50.1 percent scored from 9 to 15 marks, 32.4 percent scored
from 5.5 to 8.5 marks and 16.9 percent scored from 0.5 to 5 marks and 0.6
percent scored a 0 mark. Figure 2 below illustrates the performance.

100 -
0 -
80 -
70 -
60 -
50 -
40 - 32.4
30 -
20 -

10 | -
0 +—— ‘ ‘ —

055 5.5 -85 9-15

Scores

50.1

Percentage of Candidates

Figure 2: Trend of Candidates’ Performance in Question 2.

The candidates who scored from 9 to 15 marks managed to answer the
question according to its demand, although there were variation of marks
depending on the strengths and weaknesses of their responses. These
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responses showed that candidates had adequate graphing skills and enough
mathematical knowledge on the Statistics in Geography subject especially
on the concept of methods of presenting data and interpreting the outcomes
of the tasks. For example, in part (a) some candidates were able to obtain
the average from all the dependent variables which was 128,800, then were
able to subtract the mean from each value (from 1980 to 1989) of the
dependent variables so as to get deviations from the mean: 1980:114,000-
128,800= -14,800, 1981: 162,000 - 128,800=33,200, 1982: 240,000 -
128,800= 111,200, 1983: 258,000 - 128,800=129,200, 1984: 87,000 -
128,800= -41,800, 1985: 34,000 -128,800= -94,800, 1986: 74,000 -
128,800= -54,800, 1987: 93,000 -128,800= -35,800, 1988: 102,000 -
128,800= -26,800, and 1989: 124,000 -128,800= -4800. Finally they
managed to present the data using divergent line graph.

In part (b) some candidates were able to comment on the trend of
production by stating that there is an increase and decrease of production
and in part (c) some candidates were able to give two merits of the
divergent line graph such as: used to compare production of different years,
easy to read and interpret and demerits of the divergent line graph as:
consume a lot of time and drawn for a one commodity only. Extract 2.1 is a
sample of such a good response.

11



Extract 2.1

2. Totod o tomes = 1U4160 tQ401a5ReET FRULIWA00E
‘ lay - 128%

Moan = Total = [9%%

v lo

Moan = 12%.8

Yoar  [onoec [ Ms X-X

1a¢0 | nyg |1agg| -4

19%1 | 160 | 13€€] 33.2

1a%0 | 4y |18€&| 1.2

19¢3 | 256 [19€:& ]| 129.0

[4€y | €7 [l28.% | -lW.&

1965 | 34 [1o& | -Qu&

1986 ] T4 |[l1aeg| -Bh&

1983 | 92 [logg | -358

1488 | 100 |188% | -06¢

(469 | 10u [\2g.8|-Y.%

'b."lw produckon Is ceon b Llehuln n 1963 and ven,

1989 thic Shows ar" ohen| |

n Yonva 18 Olﬂclmma
, { J

C. MQH E’S

Mo used anomoarp pm&u&:en melxmrma} Years

=

i S hows OLcmod vuuaj tmpresmn

[\Pmo.n PS

| Consumoy alot o bing bn conshuckon ctnte (bucesalet

Loy colendabont

| TE b c{:ﬂmil} Fom}erlomﬁ tunee cchuod volue afénoﬂne.mrﬁecﬂ

12



Extract 2.1 represents a candidate who provided good responses; this
candidate was able to answer well all parts of the question.
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The candidates who scored from 5.5 to 8.5 marks had some strengths and
weaknesses in their responses in each part of the question. For example in
part (a), some candidates managed to obtain the average from all the values
of the dependent variables which is 128,800 , subtracted the mean from
each value of the dependent variable in order to get deviations from the
mean and presented data by using divergent line graph, while others
managed to obtain the average from all the values of the dependent
variables that is 128,800 , subtracted the mean from each value of the
dependent variable in order to get deviations from the mean but failed to
present data by using divergent line graph.

In part (b) some candidates managed to comment on the trend of
production such as: From 1980 — 1983, the production increased rapidly to
above average where the maximum production was in 1983 and explained
possible factors which might have affected the production. Some
commented on the trend of production with partial explanations while
others failed to comment on the trend of production.

In part (c) some candidates gave two merits and demerits of the divergent
line graph correctly, some provided two merits and demerits with partial
explanations while others mentioned without providing explanations. This
indicates that candidates had partial knowledge and skills on the Statistics
in Geography subject especially on the concept of methods of presenting
data and interpreting the outcomes of the tasks. Their marks varied due to
the strengths and weaknesses in their responses.

The candidates who scored from 0.5 to 5 marks had some weaknesses in
their answers. They had inadequate knowledge about the language and
rules of graphs or inadequate skills in putting knowledge into practice and
problems in defining variables and connecting graphs with variables. For
example in part (a) some candidates managed to obtain the average from all
the values of the dependent variables but failed to subtract the mean from
each value of the dependent variable in order to get deviations from the
mean and also failed to present the data using divergent line graph. Some
failed to obtain the average from all the values of the dependent variables,
to subtract the mean from each value of the dependent variable in order to
get deviations from the mean and also to present the data using divergent

line graph. Others tried to draw divergent line graph but failed to show
14



correct location of trend while others provided other types of graphs such
as: simple line graph, simple bar graph, group bar graph and compound
line graph instead of divergent line graph.

In part (b) some candidates just stated that there is rise and fall of
production.

In part (c) some candidates provided the merits of using divergent line
graph as: there is no more calculation and gives clear illustration and they
listed the demerits as: it is difficult to draw and it is not easy to interpret.
These responses shows that the candidates lacked enough knowledge and
skills on the Statistics in Geography subject especially on the concept of
methods of presenting data and interpreting the outcomes of the tasks.

A few candidates (0.6%) who scored a 0 mark proved to have inadequate
graphing skills as were unable to draw and interpret graphs. These
candidates failed to score any part of the question. Some of them failed to
understand the demand of the question as they drew a bar graph instead of
line graph, while some failed to obtain the average from all the values of
the dependent variables, to subtract the mean from each value of the
dependent variable in order to get deviations from the mean and also to
present the data using divergent line graph. Extract 2.2 is part of a
candidate's poor response.

15



Extract 2.2

25

i

8

1
I

i

SRt ol

e

H

SZacannEE

Er

s

il

ail

!

|

T

il

]

8

gssaEE

E=iim
!

T

i

Az
e

I

HHEE

!
Il
anag:

{

|

i foeiae=s

Frits

Euil

58 28

1
{13

Tar b,

gE=sag

R

o

s fEdcaser

gEaaRan|

=23

VR A T

il

(EEE BRI

H

T

u=

£

T

T
t

EER = : i
naane | s et ! R
it niE mn EHT i fifes.d Siel
fiffvr s T = EH
Sl i et $ o
sy (R e i

TRt

Tl

P

{REE}

1t

EZENY

P

T

HHT
!

S

‘]{H HHT

WiAENEEES

B

I

aE

T

E=1

TITT
|

il

1

I8 szzs

TR

jE338axEES Sanans 4

T

Extract 2.2 indicates part of a candidate's response who misunderstood the

instead of

He/she drew a simple bar graph

demand of the question.

divergent line graph.
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2.1.3 Question 3: Simple Survey and Map Making

This question had two parts, (a) and (b). In part (a) the candidates were
supposed to answer the given questions after reading this statement
"During a Compass Survey an amateur Surveyor recorded 070° as forward
bearings from point X to Y and 254° as back bearing”. (a) Correct the
discrepancy of these readings (b) identify four sources of errors during the
Compass Survey. The question had 15 marks.

This question was opted for by 8.6 percent of the candidates of which 54.8
percent scored from 9 to 15 marks, 20.4 percent scored from 5.5 to 8.5
marks and 22.8 percent scored 0.5 to 5 marks while 2 percent scored a0
mark. The general performance in this question was good as 75.2 percent of
the candidates who attempted it scored from 35 marks and above. Figure 3
below illustrates the performance in this question.

100 -
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60 - 54.8
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40
30 - 24.8
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10 -
04—

Q=5 5.5 -85 9-15
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20.4
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Figure 3: Trend of Candidates’ Performance in Question 3.
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The candidates who scored from 9 to 15 marks managed to provide correct
responses despite the fact that their marks varied depending on the
strengths and accurateness of their responses which revealed that, the
candidates were knowledgeable and skilful on the Simple Survey and Map
Making especially on forward and back bearing and errors of
closure/disclosure and how to correct it. For example, in part (a) some
candidates were able to follow up all procedures of correcting the
discrepancy as the question demanded, they were able to find out the mean
discrepancy by using this formula: Forward Bearing (FB) — Back Bearing

(BB)=180. Given FB=070° and BB 254°. Therefore, 254°-070°=184°, then
+4
discrepancy = +4° and mean discrepancy 2 .The corrected FB= 070°
+ 2°=72° and the corrected BB=254° — 2°=252°. Some managed to find the
difference between forward bearing and back bearing, calculate the mean
discrepancy but failed to calculate correct forward and back bearing while
others were able to find the difference between forward bearing and back
bearing, calculate the mean discrepancy, calculate the correct forward but

failed to calculate correct back bearing.

=]

In part (b), some candidates were able to identify four sources of errors
during the Compass Survey such as: improper fixation of compass,
inaccurate measurement and errors in booking the readings. While others
managed to identify four sources of errors during the Compass Survey
without providing explanations. Extract 3.1 represents a candidate who
performed well in this question.
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Extract 3.1
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Extract 3.1 is a sample of a candidate with good responses. He/she
managed in part (a) to correct the discrepancy of these reading and in part
(b) identify four sources of errors during the Compass Survey.
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The candidates who scored from 5.5 to 8.5 marks partially addressed the
demand of the question. For instance, in part (a) some candidates were able
to find the discrepancy but failed to correct the readings. In part (b) some
candidates were able to identify few sources of errors during the Compass
Survey, while others mixed up relevant and irrelevant answers. Hence, the
candidates' inability to focus on the demand of the question is an indication
of partial knowledge and skills on the Simple Survey and Map Making
especially on the concept of reading Prismatic Compass specifically on
forward and back bearing and errors of closure and how to correct it.
Hence, candidates' marks varied due to their responses.

The candidates who scored from 0.5 to 5 marks were not able to attempt the
question correctly as they provided weak responses. For example, in part
(a) some candidates failed to find the discrepancy hence were unable to get
the corrected readings. In part (b) some candidates were able to identify a
few sources of errors during the Compass Survey, while others mixed up
relevant and irrelevant points.

A few candidates (2%) scored a 0 mark; these candidates were unable to
score any part of the question. For example in part (a) they were not able to
apply correct formula of correcting the discrepancy. For instance one
candidate used this formula :error=BB — FB + 2 then he/she get 254° — 70°=
2=92° which is not the correct answer. Likewise in part (b) they failed to
identify any sources of errors during compass survey. Extract 3.2 indicates
part of a candidate's response with poor performance in this question.
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Extract 3.2
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Extract 3.2 is a sample of a candidate with poor responses. He/she was not
able correct the discrepancy of the reading and failed to identify four
sources of errors during the compass survey.

2.1.4 Question 4: Photograph Interpretation

This question had two parts, (@) and (b). In part (a) the candidates were
required to calculate the photo distance provided that the map distance is 3
inches, map scale is 1:25,000 and photo scale is 1:18,750. In part (b) the
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candidates were required to differentiate the following terms: (i) Principal
point and focal length, (ii) Flying height and flight line and (iii) Datum and
mosaic. Marks allocated for this question were 15.

This was the question which was opted for by very few (2.8 percent)
candidates and the second poorly done question on Geography paper. Only
22.2 percent of the candidates scored 35 marks and above. The analysis
shows that 21.4 percent of the candidates scored a 0 mark, 56.4 percent
scored from 1 to 5 marks, 11.8 percent scored from 5.5 to 8.5 marks, 10.4
percent scored from 9 to 15 marks. Figure 4 below illustrates the
performance.
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Figure 4: Trend of Candidates’ Performance in Question 4.

The candidates who scored a 0 mark (21.4%) were not able to score in any
part of the question. These candidates could not understand the concept of
photograph interpretation. For example in part (a) they failed to calculate
the photo distance due to application of inappropriate formula, for instance
one candidate used:

map scalex photo distance
map distance

Photo distance= instead of:

photo distance
ground distance

Photoscale =
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Or
Photo distance= photoscale x ground distsnce

In part (b), they failed to differentiate all terms as used in the topic of
photograph interpretation. Extract 4.1 is a sample of such a poor response.
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Extract 4.1
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Extract 4.1 indicates a sample of the candidate who did not manage to calculate
the photo distance and differentiate some photographical terms given.
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The candidates who scored from 1 to 5 marks managed to answer correctly
in some parts of the question. For instance, in part (a) some candidates
photo distance

managed to write correct formula such as Photoscale = -
ground distance

a part from writing the correct formula they failed to calculate the ground
distance which was not given in the question.

In part (b), some candidates managed to differentiate correctly a few terms.
For example, some managed to write only in roman (i) Principal point is
the geometrical Centre which is located at the point of intersection of the
two diagonal lines from the corners of the air photograph and focal length
is the perpendicular distance from camera lens to the film. In roman (ii)
and (iii) they were able to attempt one part of the question by giving correct
definitions, these terms are flying height and Datum.

The candidates who scored from 5.5 to 8.5 marks were able to score well in
one part of the question or in the second part. For example in part (a) they
managed to write the formula of calculating photo distance and were able
to get the correct answer: Photo distance = 4 inches. In part (b) some
candidates were able to differentiate some of the photographic terms
provided: (i) Principal point and focal length, (ii) Flying height and flight
line and (iii) Datum and mosaic while others provided partial responses (i)
Principal point and focal length, (ii) Flying height and flight line and (iii)
Datum and mosaic. Such inadequate responses adversely affected the
candidates’ performance. Hence, they were not able to score above 8.5
marks.

The candidates who scored from 9 to 15 marks showed understanding on
the Photograph Interpretation especially on how the scale of the
photographs is determined, types of information from the photographs and
how to extract and interpret information present in the photograph. For
example, in part (a) they were able to use correct formula and procedures to
get the correct answer, in the first place they identified the ground distance
which was not given in the equation since
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photo distance

ground distance
75,000inches %1 inch

18,750 inches

From the given formula they managed to obtain the correct answer which
was: Photo distance = 4 inches. In part (b) some candidates were able to
differentiate all terms as the question demanded: (i) Principal point and
focal length, (ii) Flying height and flight line and (iif) Datum and mosaic
while others differentiated (i) Principal point and focal length, (ii) Flying
height and flight line and (iii) Datum and mosaic partially. The marks
differed because of deviation in accurateness of their responses. Extract 4.2
is an example of a candidate who had good performance in the question.

Photoscale =

Ground distance = 75,000inches.

Photo distance =
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Extract 4.2
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Extract 4.2 represents a candidate who performed well in this question. He/she

managed in part to (a) calculate the photo distance. In part (b) differentiated the
given photographical terms given.
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SECTION B: PHYSICAL GEOGRAPHY
2.1.5 Question 5: Water Masses

This question required the candidates to discuss by giving eight points on
the statement that "Wetlands are not Wastelands". The total marks allocated
for this question were 20.

The majority of the candidates (81.8 percent) opted for this question and
their general performance was good as 89.2 percent scored 35 marks and
above. Data in this question show that 49.7 scored from 12 to 20 marks,
39.5 percent scored from 7 to 11.5 marks, 10.3 percent scored from 0.5 to
6.5 marks and 0.5 percent scored a 0 mark. Figure 5 below illustrates the
performance.
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Figure 5: Trend of Candidates’ Performance in Question 5.

The candidates who scored from 12 to 20 marks had shown ability to
comprehend and apply knowledge in new situations, because the question
needed high level of analytical and reasoning skills. Majority of candidates
showed a clear understanding on the concept of Water Masses especially on
the functions and importance of Wetlands to the environment and life.
These candidates understood the demand of the question and therefore, in
their responses they managed to provide clear meaning of wet land and
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waste land and provided a functions of wetland such as: support arable
farming, habitat provision, flood control and support livestock farming and
they provided good conclusion on how to conserve Wetlands. Variation of
marks were influenced by arguments which were provided by the
candidates. Extract 5.1 is an example a candidate with a good performance.
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Extract 5.1
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Extract 5.1 is a sample of a response from a candidate with an ability to
comprehend and apply knowledge in new situations. The candidate was
able to provide good introduction, explain the importance of wetlands and

his/her conclusion shows high level of critical analysis.
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Furthermore, the candidates who scored from 7 to 11.5 marks were able to
provide a few points on the functions of wet land contrary to the question
demand. For example, some candidates were able to give the introduction
of Wetlands and Wastelands but explained functions of Wetlands partially
and suggested methods of conserving Wetlands, some candidates failed to
provide the introduction of Wetlands and Wastelands but managed to
explain eight functions of Wetlands and possible ways of conserving it
while others gave partial introduction and managed to provide eight
functions of Wetlands correctly but failed to suggest ways of conserving it.
Such responses led their marks to vary.

Moreover, the candidates who scored from 0.5 to 6.5 marks showed that
they were not competent on the topic of Water Masses especially on the
Wetlands specifically on the functions and importance of Wetlands to the
environment and life. That is why they scored lower marks. For instance,
some candidates failed to provide the introduction of Wetlands and
Wastelands, explained a few functions of Wetlands and failed to give ways
of conserving Wetlands, some provided an introduction of Wetlands and
Wastelands partially, mentioned functions of wetlands without explanations
and did not suggest ways of conserving it while others were able to explain
only few functions of Wetlands partially without an introduction of
Wetlands and Wastelands and possible ways of conserving it. These
responses caused the candidates to vary in their marks.

On the other hand, the candidates who scored a 0 mark lacked knowledge
and skills on the subject matter of the functions and importance of
Wetlands to the environment and life. In this category candidates were not
able to provide the introduction of Wetlands and Wastelands, functions of
Wetlands and ways of conserving Wetlands with relevant conclusion. For
example, one candidate misconceived the question by explaining ways of
conserving Wetlands such as: proper ways of dumping wastes,
establishment of government policy and provision of education instead of
functions of Wetlands. This candidate probably was attracted by the word
Wastelands without considering the demand of the question. Another one
explained the types of underground water such as: springs, wells, and
geysers. Probably he/she was not aware of the concept of Wetlands
specifically on the functions and importance of Wetlands to the
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environment and life. This situation rendered them not to score any mark.
Extract 5.2 is a sample of an irrelevant response.

Extract 5.2
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Extract 5.2 is a sample of a poor response. The candidate explained ways of
conserving Wetlands such as: proper way of dumping wastes, establishment of
government policy and provision of education instead of importance of Wetlands.
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2.1.6 Question 6: Water Masses

This question instructed the candidates to explain with the aid of the
diagrams any five types of depressions in which lakes are formed. The
question had 20 marks.

This question was opted for by 58.9 percent of the candidates of which 31.5
percent scored from 12 to 19 marks, 50.1 scored from 7 to 11.5 marks, 18.2
percent scored from 0.5 to 6.5 marks and 0.2 percent scored a 0 mark. The
general performance was good as 81.6 percent scored 35 marks and above
Figure 6 below illustrates the performance in this question.
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Figure 6: Trend of Candidates’ Performance in Question 6.

The candidates who scored from 12 to 19 marks revealed that they had
good knowledge and skills on the concept of Water Masses especially on
the formation and origin of lakes. Variation of marks was due to strengths
and weaknesses in their responses. For example, some candidates were able
to give clear introduction of lakes, identified correct types of depressions in
which lakes are formed as: crustal warping depression, tectonic movement
depression, volcanic action depression and glacial action depression and
managed to provide a conclusion. Some were able to provide a partial
introduction, explained correctly the types of depressions in which lakes are
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formed without a conclusion, Others managed to give a correct introduction
of lakes, and a few types of depressions had satisfactory explanations.

Extract 6.1 is a sample of a candidate who answered the question relatively
well.
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Extract 6.1 represents part of a candidate's response who managed to provide a
definition of a lake and explain correctly types of depressions in which lakes are

formed.

Furthermore, the candidates who scored from 7 to 11.5 marks at least
showed understanding of Water Masses especially on the concepts of the
formation and origin of lakes. Their marks varied because of differences in
the quality of their arguments. For example some candidates were able to
give introduction of lakes but provided partial explanations on the types of
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depressions in which lakes are formed with correct conclusion. Some were
able to provide partial introduction, few correct types of depressions in
which lakes are formed and a conclusion while others did not manage to
give an introduction of lakes but were able to explain the types of
depressions in which lakes are formed and a conclusion.

Moreover, the candidates who scored from 0.5 to 6.5 marks were able to
provide correct introduction of lakes but did not manage to explain any
type of depression in which lakes are formed, some candidates were not
able to give introduction of lakes but were able to explain only few types of
depressions in which lakes are formed. While some candidates were able to
give partial introduction of lakes without explaining any type of depression
in which lakes are formed. Variation of marks depended on the strength of
their responses.

On the other hand, the candidates who scored a 0 mark had no knowledge
and skills on Water Masses especially on the concept of formation and
origin of lakes. Some candidates provided irrelevant introduction and types
of depressions in which lakes are formed. For example, one candidate
provided an introduction of depressions as: hollow in a land surface which
may be surrounded by hills or mountains. This candidate failed to
differentiate between an empty hole and the hole which is filled with water.
He/she explained the importance of the lakes such as: irrigation and fishing
instead of types of depressions in which lakes are formed, this candidate
failed to interpret the demand of the question. Another candidate explained
theories which explain the formation of landforms such as: continental
drift, isostacy theory and plate tectonic theory. Probably he/she was not
able to identify the contribution of these theories to the formation of
different depressions in which lakes are formed. Extract 6.2 is a sample of
pOOr responses.
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Extract 6.2
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Extract 6.2 represents a sample of a candidate who responded on the
theories which explain the formation of landforms such as: ridge, pedge,
hollow/well, lakes and springs instead of types of depressions in which

lakes are formed.

41



2.1.7 Question 7: Space Dynamic

In this question the candidates were required to discuss eight factors that
influence the variation in the amount of insolation received on the earth
surface. The total marks allocated for this question were 20.

The majority of the candidates (86.5 percent) opted for this question and
their general performance was good as 74 percent scored 35 marks and
above. Analysis in this question shows that 25.5 percent scored from 12 to
20 marks, 48.5 percent scored from 7 to 11.5 marks, 25 percent scored from
0.5 to 6.5 marks and 1.0 percent scored a 0 mark. Figure 7 below illustrates
the performance.

100 1
90
80
70 A
60 48.5
50
40 A
30 A
20 A
10 A

Percentage of Candidates

0-6.5 7-11.5 12-20
Scores

Figure 7: Trend of Candidates’ Performance in Question 7.

The candidates who scored from 12 to 20 marks had enough knowledge on
the topic of Space Dynamic especially on the concept of climatic change
specifically on the factors influencing temperature on the earth. Despite the
fact that candidates scored higher marks, their marks varied due to the
strengths and weaknesses of their points. For instance, some candidates
were able to give a correct introduction of insolation, they provided eight
factors that influence the variation in the amount of insolation received on
the earth surfaces: solar attitude, distance from the sun, the effect of the
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atmosphere, latitudinal position and nature of the surface. Some managed
to provide a correct introduction of insolation, eight factors that influence
the variation in the amount of insolation received on the earth surface but
failed to give relevant conclusion. Some managed to provide partial
introduction of insolation, correct eight factors that influence the variation
in the amount of insolation received on the earth surface and a conclusion
while others were not able to provide a correct introduction but they
managed to explain eight factors that influence the variation in the amount
of insolation received on the earth and a conclusion. Extract 7.1 is a sample
of such good performance.
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Extract 7.1
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Extract 7.1 is a sample of a good response of a candidate who was able to give
relevant introduction of insolation and discuss eight factors that influence the
variation in the amount of insolation received on the earth surface with relevant
conclusion.

Furthermore, the candidates who scored from 7 to 11.5 marks indicated that
they had little knowledge on Space Dynamic. For example, some
candidates were able to give a correct introduction of insolation, explained
eight factors that influence the variation in the amount of insolation
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received on the earth surface partially and a relevant conclusion. Some
managed to give an introduction of insolation, explain a few factors that
influence the variation in the amount of insolation received on the earth
surface and provided correct conclusion while others provided partial
introduction of insolation and explained partially eight factors that
influence the variation in the amount of insolation received on the earth
surface without a conclusion.

Similarly, the candidates who scored from 0.5 to 6.5 marks had little
knowledge on the Space Dynamic especially on the concept of climate
change specifically on the factors influencing the amount of insolation
received on the earth surface. Their varied responses led to differences of
marks awarded. For example, some candidates were able to provide correct
introduction of insolation but were not able to explain factors asked and
provided an irrelevant conclusion. Some were able to give an introduction
only but failed to explain factors and a relevant conclusion while others
were not able to provide an introduction of insolation but managed to
explain partially a few factors that influence the variation in the amount of
insolation received on the earth surface without a conclusion.

On the other hand the candidates who scored a 0 mark failed to understand
the demand of the question as they provided an irrelevant introduction of
insolation, factors that influence the variation in the amount of insolation
received on the earth surface and irrelevant conclusion. For example, one
candidate explained only ways in which the sun's rays reaches the earth and
warms the surface such as: convection, conduction and radiation. The
reason for this confusion might be that, factors that influence the variation
in the amount of insolation received on the earth surface and ways in which
the sun's rays reaches the earth surface are both taught in the subtopic of
climate change. Another candidate explained factors affecting temperature
like: distance from the sea, altitude, latitude, cloud cover and ocean
current instead of factors that influence the variation in the amount of
insolation received on the earth surface. Since "Insolation™ refers to the
energy from the sun and "temperature™ is the degree of hotness or coldness,
the candidate failed to differentiate between temperature and energy from
the sun as they are both related to hotness or coldness. Extract 7.2 is a
sample of a poor response.
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Extract 7.2
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Extract 7.2 is a sample of a poor candidate’s response. The candidate explained
factors affecting temperature like: distance from the sea, altitude, latitude, cloud
cover and ocean current, instead of factors that influence the variation in the

amount of insolation received on the earth surface.
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2.1.8 Question 8: Space Dynamic

This question instructed the candidates to discuss six theories which
account for climatic change. The total marks allocated for this question
were 20.

The question was not popular, as only 17.2 percent of the candidates
attempted it of which 15.7 percent scored a 0 mark, 67.5 percent scored
from 0.5 to 6.5 marks, 14.0 percent scored from 7 to 11.5 marks and 2.8
percent scored from 12 to 18 marks. The general performance in this
question was very weak since only 16.8 percent scored 35 marks and
above. Figure 8 below illustrates the performance.

2.80%

m 0-6.5 Weak
7-11.5 Average
® 12-18 Good

Figure 8: Trend of Candidates’ Performance in Question 8

Most of the candidates who scored a 0 mark had limited theoretical
background on climatic change, misinterpreted the question, and their
answers were too general and sketchy. For example, some candidates
provided types of temperature inversion such as: subsidence inversion,
some explained factors for climate change such as: aspects and latitude
while others explained types of climate like: tropical climate and
equatorial climate. Other candidates responded by providing factors which
influence temperature of the area; one candidate for example went astray by
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providing points such as: theory of latitude, distance from the sea theory
and altitude theory. Extract 8.1 indicates one of the poor responses.

Extract 8.1
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Extract 8.1 is a sample of a candidate who misunderstood the question thus
responded by providing theories that influence temperature of the area, instead of
theories for climatic change. He/she provided wrong responses such as: Latitude
theory, ocean current theory, altitude theory and distance from the sea theory.
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Similarly, the candidates who scored from 0.5 to 6.5 marks had superficial
knowledge of the theories which account for climatic change. Their
responses showed that the subject matter was not so clear to them
specifically on the approaches or principles used in classifying climate. For
example, some candidates were able to give a definition of climatic change
in the introduction and explained partially few theories for climatic change
without a conclusion. Some managed to explain only a few theories for
climatic change without an introduction and conclusion, while others were
able to give relevant introduction of climatic change only but failed to
explain theories for climatic change and a conclusion.

Furthermore, the candidates who scored from 7 to 11.5 marks had moderate
knowledge and skills in this question. For example, some candidates were
able to provide relevant introduction of climatic change and explain
partially the six theories for climatic change, while others gave partial
introduction of climatic change and explained a few theories for climatic
change and partial conclusion. Similarly others failed to provide a meaning
of climatic change but managed to explain a few theories for climatic
change. Therefore, the average score is a reflection of their relatively
moderate knowledge of the topic of space dynamics

On the other hand, the candidates who scored from 12 to 18 marks were
able to provide correct introduction of climatic change and explain six
theories which account for climatic change such as: variation in the solar
energy theory, astronomical relationship between the sun and the earth
theory, change in oceanic theory and volcanic activity theory and they
provided relevant conclusions. Some candidates defined climatic change in
the introduction and explained six theories without a conclusion while
others failed to define climatic change in the introduction but managed to
expound six theories and a conclusion. Others gave partial introduction but
managed to explain six theories and provided a relevant conclusion. Extract
8.2 is an example of a candidate with a good response.

54



Extract 8.2
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Extract 8.2 is a response from a script of a candidate who managed to
provide a correct introduction of climatic change and discussed fairly well
theories which account for climatic change with relevant conclusion.
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2.1.9 Question 9: Water Masses

This question consisted of two parts, (a) and (b). In part (a) candidates were
required to describe three stages in the formation of a delta and in part (b)
candidates were supposed to explain three conditions necessary for the
formation of the delta. The total marks allocated for this question were 20.

The question was opted for by 48.8 percent of the candidates of which: 24.1
percent scored from 12 to 20 marks, 41.2 percent scored from 7 to 11.5
marks, 31.4 scored from 0.5 to 6.5 marks and 3.3 percent scored a 0 mark.
The above data shows that the general performance of the candidates who
opted for this question was good since 65.3 percent scored 35 marks and
above. Figure 9 below illustrates the performance.
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0 - ‘ —
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Figure 9: Trend of Candidates’ Performance in Question 9

The candidates who scored from 12 to 19 marks were able to provide a
correct introduction of delta and described three stages in the formation of a
delta as: deposition in the mouth of the river, lagoons have already begun
to be filled with sediments and filling of lagoons plus the growth of
complete covering of vegetation with well supportive diagrams in part (a)
and in part (b) they were able to explain three conditions necessary for the

formation of the delta such as: there should be active erosion in the upper
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course and the middle course of the river, the velocity of the river must be
sufficiently low to allow its load to be deposited and the river load must be
deposited faster than it can be removed. The variation in their scores was
influenced by the strengths and clarity of their explanations. Some
candidates in part (a) were able to give a correct introduction, described
three stages in the formation of a delta with diagrams which were drawn
partially and in part (b) were able to explain three conditions necessary for
the formation of the delta. While others in part (a) managed to provide
partial introduction, described correctly three stages in the formation of a
delta with well-drawn diagrams and in part (b) were able to explain three
conditions necessary for the formation of the delta with a conclusion.
Extract 9.1 below is a sample of a good response.
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Extract 9.1
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Extract 9.1 represents a candidate who had good performance. He/she
managed to provide correct introduction of a delta, described three stages
in the formation of a delta with the aid of the diagrams and provided a
relevant conclusion.
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Furthermore, the candidates who scored from 7 to 11.5 marks had moderate
knowledge of the concept of Water Masses especially on the interpretation
of river patterns and development of a river valley. The quality of responses
for individual candidates was reflected through scores of one candidate to
another. For example, some candidates in part (a) were able to provide a
definition of a delta, described partially three stages in the formation of a
delta and in part (b) failed to explain clearly three conditions necessary for
the formation of the delta but gave relevant conclusion. Some in part (a)
were able to provide definition of a delta and described three stages in the
formation of a delta but in part (b) were not able to explain three conditions
necessary for the formation of the delta. While other candidates in part (a)
were able to provide definition of a delta, described three stages in the
formation of a delta and in part (b) explained a few conditions necessary for
the formation of the delta with a relevant conclusion.

Moreover, the candidates who scored from 0.5 to 6.5 marks indicated that
they had little knowledge and skills on the Water Masses especially in the
interpretation of river patterns and development of a river valley. For
example, some candidates in part (a) were able to define a delta but failed
to describe three stages in the formation of a delta and in part (b) managed
to explain partially a few conditions necessary for the formation of the
delta. Some candidates in part (a) were able to give partial definition of
delta only and in part (b) provided a few conditions necessary for the
formation of the delta, while other candidates were able to give definition
of delta only and the rest of the question was not attempted. This sled to
scoring low marks.

On the other hand, the candidates who scored a 0 mark lacked knowledge
on a river pattern and development of a river valley. They provided
irrelevant answers which were contrary to the demand of the question. For
example, some candidates in part (a) failed to define a delta and to describe
three stages in the formation of a delta. Also in part (b) they did not manage
to explain conditions necessary for the formation of a delta. Some
candidates explained the stages of the river development as: youth stage,
middle stage and upper stage instead of the stages of the formation of a
delta. Some provided irrelevant answers as: formation stage, development
of roots, it forms other types looking as it is and availability of source of
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water instead of the stages of the formation of a delta. Extract 9.2 is a
sample of a poor performance.

Extract 9.2
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Extract 9.2 shows a sample of a candidate who provided the stages of river
development instead of three stages of the delta formation.
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2.2

221

113/2 GEOGRAPHY PAPER TWO
SECTION A: POPULATION AND DEVELOPMENT

This section consisted of three questions 1, 2 and 3 which were set from the
Population and Development Topic and the candidates were required to
answer any two (2) questions. Each question had 20 marks.

Question 1: Population and Development

This question instructed the candidates to analyse eight population
problems of underdeveloped countries.

It was one of the questions which were attempted by a large number of
candidates. A total of 99.2 percent opted for it and it was the fourth in the
ranking of well-done questions in Geography paper. The general
performance in this question was good as 95.6 percent of the candidates
scored 35 marks and above. Analysis in this question shows that 50 percent
scored from 12 to 20 marks, 45.6 percent scored from 7 to 11.5 marks, 4.4
scored from 1 to 6.5 marks. Figure 1 below illustrates the performance.

4.40%

m 0-6.5 Weak

7-11.5 Average

45.60% m 12-18 Good

Figure 1: Trend of Candidates’ Performance in Question 1

The candidates who scored from 12 to 20 marks showed understanding on
the subject matter and were able to understand the demand of the question.
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They also had good writing skills and were able to analyse eight population
problems of underdeveloped countries such as: poor housing and health
conditions, high rate of unemployment, increase of beggars, prostitution
and crimes, underutilization of agricultural resources, uneven distribution
of population and high birth rate and child mortality. The variations of
their scores were determined by the strength and correctness of their
explanations. Extract 1.1 illustrates a sample of a candidate who performed
well.
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Extract 1.1
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Extract 1.1 represents a sample of a candidate's response who managed to analyse
population problems of undeveloped countries such as: unemployment, frequent
outbreak of diseases, emergence of social evils, poor housing and congestion,
inadequate provision of social services.
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Furthermore, the candidates who scored from 7 to 11.5 marks were able to
understand the demand of the question but were either not able to provide
the required number of points as the question demanded or mixed the
relevant and irrelevant points. This was due to the limited knowledge they
had on the subject matter. Some of the responses were such as: high birth
rate and child mortality, unemployment, political instability, poor social
services, tribalism, outbreak of diseases, sex preference, underutilization of
agricultural resources, and uneven distribution of population. On the other
hand, majority of the candidates provided partial explanations of their
points which adversely affected their performance by scoring not more than
11.5 marks.

Similarly, some of the candidates who scored from 1 to 6.5 marks lacked
focus on the demand of the question. Others responded on the factors which
hinder development in Africa such as corruption and embezzlement of some
trusted officials, natural calamities, poor science and technology and weak
government to organize with strong motivation, however, they obtained just
a few marks. Others had little knowledge on the subject matter as a result
they failed to provide the required number of points as per the questions
demand. Nevertheless, the few correct points provided were not well
explained while others responded on the causes of population explosion.
Extract 1.2 is a sample of such a weak performance.
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Extract 1.2 shows a sample of a response from a script of a candidate who
explained causes of a rapid growth rate (population explosion) in the
underdeveloped countries such as: sex preference, poor family planning,

polygamy, poor health services etc instead of population problems of
underdeveloped countries.
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2.2.2 Question 2: Population and Development

The question required the candidates to explain why population growth in
Tanzania is a natural outcome of women's lack of economic and social
opportunities, by giving six reasons.

It was opted for by 39.5 percent of all the candidates of which 11.5 percent
scored from 12 to 19.5 marks, 44.9 percent scored from 7 to 11.5 marks,
42.7 percent scored from 0.5 to 6.5 marks and 0.9 percent scored a 0 mark.
The general performance in this question was average as 56.4 percent of the
candidates scored 35 marks and above. Figure 2 below illustrates the
performance.

100 -
90 -
80 -
70 -
60 -
50 - 43.6 44.9
40 -
30 -
20 -
10 -

0 -

115

| -

0-6.5 7-11.5 12-19.5
Scores

Percentage of Candidates

Figure 2: Trend of Candidates’ Performance in Question 2

The candidates who scored from 12 to 19.5 marks were able to understand
the demand of the question. They had good knowledge on the subject
matter and good writing skills. They expounded reasons as to why
population growth in Tanzania is a natural outcome of women’s lack of
economic and social opportunities such as: early marriage, cultural beliefs,
limited access to sufficient and quality family planning services and limited
social mobility. The variations of their scores were determined by the
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strength and correctness of their explanation. Extract 2.1 indicates a sample
of a candidate who performed well in this question.

Extract 2.1
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Extract 2.1 shows a candidate who was able to provide good responses such as:
The level of education especially female education, early marriage, lack of
decision making and cultural beliefs in explaining why population growth in

Tanzania is a natural outcome of women's lack of economic and social
opportunities.

71



The candidates who scored from 7 to 11.5 marks revealed to have moderate
knowledge and skills on Population and Development especially on the
concept of population growth. However, the variation of their scores was
attributed to the way they responded to the question. For instance, some
candidates were able to give correct meaning of population growth, explain
partially with reasons why population growth in Tanzania is a natural
outcome of women's lack of economic and social opportunities without
relevant conclusion.

The candidates who scored from 0.5 to 6.5 marks showed that they were
not so competent with the subject matter of Population and Development
especially on the concept of population growth. For example, some
candidates were able to give correct introduction of population growth;
some did not manage to give correct introduction of population growth, but
explained partially a few reasons why population growth in Tanzania is a
natural outcome of women's lack of economic and social opportunities
without relevant conclusion.

On the other hand, the candidates who scored a 0 mark did not manage to
answer the question according to its demand. Their responses show that
they lacked knowledge and skills on the topic of Population and
Development especially on the concept of population growth. For example,
one candidate provided the impact of population growth such as: spread of
diseases, pressure on resources and increase in dependent ratio. These
responses are contrary to the demand of the question. Extract 2.2 below is a
sample of a poor response.
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Extract 2.2
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Extract 2.2 is a sample of a poor response of a candidate who responded on
negative impact of population growth such as: unemployment, poor social services
and shortage of land, instead of explaining why population growth in Tanzania is a
natural outcome of women's lack of economic and social opportunities, by giving
SiX reasons.
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2.2.3 Question 3: Population and Development

In this question candidates were required to examine four achievements and
four constraints of population policy in Tanzania.

It was opted for by 61.1 percent of all the candidates of which 2.1 scored a
0 mark, 50.4 percent scored from 0.5 to 6.5 marks, 36.4 percent scored
from 7 to 11.5 marks and 11.1 percent scored from 12 to 20 marks. The
general performance in this question was average as 47.5 percent of the
candidates scored 35 marks and above. Figure 3 below illustrates the
performance.
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Figure 3: Trend of Candidates’ Performance in Question 3

The candidates who scored a 0 mark provided poor responses due to
limited knowledge on the subject matter. They failed to understand the
prerequisite of the question and provided generalised responses. The
majority of the candidates who scored a zero mark were unable to provide
correct responses from the introduction to the conclusion. For example, one
candidate defined population policy as: the statement provided by leader
which can be implicit or explicit. From this definition, as provided by the
candidate, it was observed that there was a gap of information partly due to
insufficient knowledge on population policy. The correct definition was
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supposed to be: Population policy refers to the guiding statement so as to
attain some demographic goals. It is a deliberate effort by the government
to influence the demographic factor like fertility; mortality and migration.
Similarly, the candidates were not able to provide the achievements and
constraints of population policy. As for the achievements, the candidates
provided generalised responses like: Increase in population in Tanzania,
improvement of education, lead to increase in agricultural sector. While
they erroneously argued that: presences of diseases, lack of employment,
absence of market, poor social services. Were the constraints of the
population policy in Tanzania. Extract 3.1 is a sample of a poor response.
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Extract 3.1
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Extract 3.1 represents a sample of a candidate who provided irrelevant
responses. In achievements the responses provided were: increase in
population in Tanzania, improvement in education, increase in agricultural
sector. In constraints the responses were: presence of diseases, lack of
employment, and absence of market. These responses were not related
with the demand of the question.

The candidates who scored from 0.5 to 6.5 marks provided sketchy
responses partly due to low level of mastering the subject matter. They also
misunderstood the demand of the question and provided of generalised
responses. However, they were able to score up to 6.5 marks either by
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defining well some of the demographic terms or by providing undetailed
explanations. For example, one candidate managed to provide relevant
introduction of population policy, but failed to explain four achievements
and four constraints of population policy in Tanzania. Other candidates
wrote challenges which have necessitated the review of the population
policy such as: high level of adolescence, high prevalence of STDs and
pregnancies .As a matter of fact this candidate misconceived the question
since both ideas are taught in the concept of justification of the population

policy.

Furthermore, the candidates who scored from 7 to 11.5 marks had moderate
knowledge of the subject matter and were able to meet the demands of the
question. For example, some candidates were able to give correct definition
of population policy, explained partially few achievements and constraints
of population policy in Tanzania with relevant conclusion. Some managed
to provide meaning of population policy, explain only a few achievements
of population policy in Tanzania without constraints and conclusion. Some
candidates were not able to give correct introduction of population policy,
failed to explain achievements and constraints of population policy in
Tanzania. While other candidates were able to provide definition of
population policy, but failed to explain achievements. However, they were
able to explain constraints of population policy in Tanzania without
relevant conclusion.

On the other hand, the candidates who scored from 12 to 20 marks were
conversant with concept of population policy, and their ideas were well
presented and consistently related to the question. The essays were well
structured with cohesive paragraphs and good flow. However, their marks
varied from 12 to 20, depending on the strengths and accuracy of their
answers. For instance, some candidates were able to give correct definition
of population policy, and explained four achievements of the population
policy such as: there is awareness on the population issues, the adoption of
explicitly population policy of 1992, expansion and introduction of
population studies in the learning institution in the country and increased
number and capacity of NGOs, community based organisations and faith
based organisations engaged in population related activities. As for the
constraints of population policy in Tanzania they pointed out: inadequate
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human and financial resources, poor information and communication
system, non-establishment of planned policy coordination and
implementation arrangements and policies mainly addressed family
planning and child spacing activities. They ended up with relevant
conclusions which showed high level of critical analysis. Extract 3.2
illustrates a sample of a candidate who performed well in this question.

79



Extract 3.2
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Extract 3.2 illustrates a sample of good a response. The candidate
provided relevant achievements of population policy in Tanzania and its
constraints.
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SECTION B: Regional Focal Studies

224

This section consisted of five questions 4, 5, 6, 7 and 8 which were set from
the Regional Focal Studies Topics and the candidates were required to
answer any three (3) questions. Each question had 20 marks.

Question 4: Agricultural Development

The question required the candidates to assess six challenges facing
Tanzanian peasants in practicing organic farming.

It was opted for by 55.6 percent of all the candidates of which 37.9 percent
scored from 12 to 20 marks, 54.5 percent scored from 7 to 11.5 marks and
7.6 percent scored from 0.5 to 6.5 marks. The general performance in this
question was good as 92.4 percent of the candidates scored 35 marks and
above. Figure 4 below illustrates the performance.
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Figure 4: Trend of Candidates’ Performance in Question 4
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The candidates who scored from 12 to 20 marks precisely focused on the
question’s demands. It was possible to them to assess the challenges facing
Tanzanian peasants in practicing organic farming with clear explanation.
Some of the relevant responses given were: low public awareness on
organic farming, market of organic produce is not well organised in
Tanzania, high input costs, inadequate capacity to carry out comprehensive
research, training and extension services and low level of technical-know
how. The variation of their scores was determined by the quality of the
essays for individual candidates and the total number of points provided as
the question demanded. Extract 4.1 shows a sample of such a good
response.
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Extract 4.1
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Extract 4.1 indicates a candidate who managed to answer the question
relatively well. He/she managed to provide challenges facing peasants
practicing organic farming in Tanzania such as: pests and diseases,
unfavourable climatic conditions, inadequate market and low level of
technology.
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The candidates who scored from 7 to 11.5 marks were able to understand
the demands of the question but failed to provide enough points as the
question required, while those who managed to write the required number
of points mixed correct and incorrect points as a result their scores could
not exceed 11.5 marks.

On the other hand, the candidates who scored from 0.5 to 6.5 provided
superficial responses due to limited knowledge on the subject matter. Some
presented wrong points not related to the question. For example, one
candidate provided irrelevant introduction, provided wrong six challenges
facing Tanzanian peasants in practicing organic farming such as:
availability of health services, industrialization, low production,
deforestation, soil erosion, family commitment and price fluctuation.
Extract 4.2 represents a poor response.
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Extract 4.2
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Extract 4.2 is a response from a candidate who explained factors affecting
agricultural development such as: land conflict, climatic condition and lack of
enough capital contrary to the demands of the question.
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2.2.5 Question 5: Livestock Keeping and Management

This question instructed candidates to examine eight factors for the
successful beef farming in the U.S.A .It was opted for by 75.5 percent of all
candidates and was second in the ranking of well performed questions of
which 67.4 scored from 12 to 20 marks, 31.4 scored from 7 to 11.5 marks,
1.2 percent scored from 1 to 6.5 marks. The general performance in this
question was good as 98.8 percent of the candidates scored 35 marks and
above. Figure 5 below illustrates the performance.
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Figure 5: Trend of Candidates’ Performance in Question 5

The candidates who scored from 12 to 20 marks exhibited a thorough
understanding of the subject matter. They explained difficulty concepts,
helped with a good essay organisation and were able to examine factors for
the successful beef farming in the USA such as: the use of advanced
technology, reliable water supply, reliable transport and communication
network. Presence of labour power and availability of capital to be invested
in beef farming and a relevant conclusion. Extract 5.1 is an example of
relevant responses.
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Extract 5.1
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Extract 5.1 is an example of a good response. The candidate was able to
examine the factors for the successful beef farming in the U.S.A. such as:
the use of advanced technology, availability of fertile soil, the use of
irrigation methods and good government support. The candidate ended up
with a relevant conclusion.

Similarly, the candidates who scored from 7 to 11.5 marks had moderate
knowledge on the subject matter on livestock keeping and management
especially on the concept of commercial livestock farming. For instance,
some candidates were able to provide the background and definition of beef
farming in the USA, explain partially factors which led to successful beef
farming in the USA. Some managed to provide definition of beef farming,
explained few factors which led to successful beef farming in the USA
without a relevant conclusion. Others managed to provide partial
introduction, explained a few factors which contributed to partial successful
beef farming with relevant conclusions.

On the other hand, the candidates who scored from 1 to 6.5 marks had
limited knowledge of beef farming in the USA. As a result they responded
partially to the question by providing few relevant points. For example, one

candidate managed to provide few a correct points about factors for
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successful beef farming in the USA. He/she also explained other points on
the importance of beef farming which was contrary to the demand of the
question. Extract 5.2 is a sample of such responses.

Extract 5.2
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Extract 5.2 is a sample of a candidate's response who managed to write few
correct points such as: reliable market and advanced technology and other
irrelevant points.
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2.2.6 Question 6: Sustainable use of Fuel and Power

This question demanded the candidates to justify the statement that, fossil
fuel are both energy resources for economic development and instruments
of environmental destruction by giving eight points.

This question was opted for by 21 percent of all the candidates and was the
third well performed question, of which 68.4 percent scored from 12 to 20
marks, 29.3 percent scored from 7 to 11.5 marks, 2.2 scored from 1 to 6.5
marks, and 0.1 scored a 0 mark. The general performance in this question
was good as 97.7 percent of the candidates scored 35 marks and above.
Figure 6 below illustrates the performance.

100 A~
90 A
80
70
60
50 o
40 - 293
30 o
20 o

10 - > \

0-6.5 7-115 12-20

Percentage of Candidates

Scores

Figure 6: Trend of Candidates’ Performance in Question

The candidates who scored from 12 to 20 marks manifested a clear
understanding of the concept on sustainable use of fuel and power
especially on non-renewable energy resources. Strengths and weaknesses of
their points made their marks to vary. For example, some candidates were
able to provide correct introduction of fossil fuels and explained the
usefulness of fossil fuels such as: provision of power for various transport
facilities, natural gas can be used to manufacture fertilizers, petroleum is
used for manufacturing synthetic fibres, toys and for road bitumen,
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employment creation and encourage scientific development. They also
justified how fossil fuel can be instruments of environmental destruction
such as: killing aquatic life, global warming, environmental degradation,
formation of acidic rain and environmental pollution. Some were able to
explain the usefulness of fossil fuels and how fossil fuels can be
instruments of environmental destruction without relevant conclusion.
Some managed to provide correct introduction of fossil fuels, explain
partially usefulness of fossil fuels and the way they can act as instruments
of environmental destruction. Some were able to provide partial
introduction of fossil fuels, explain the usefulness of fossil fuels and how
the fuel can be instruments of environmental destruction with relevant
conclusions. Others were able to provide correct introduction of fossil
fuels, explain the usefulness of fossil fuels and the way fossils fuel can be
instruments of environmental destruction with partial conclusion. Extract
6.1 indicates such a good response.
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Extract 6.1
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Extract 6.1 shows a sample of a candidate who attempted the question relatively
well. He/she provided a correct introduction, provided the usefulness of fossil fuel
and the way fossil fuel are instruments of environmental destruction. His/her

conclusion shows high level of critical analysis.
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Furthermore, the candidates who scored from 7 to 11.5 marks had moderate
knowledge on the concept of sustainable use of fuel and power. The
variation of their marks was due to the strengths and weaknesses of
individual candidates. For instance, some candidates were able to give
correct introduction of fossil fuels, explained partially a few usefulness of
fossil fuels and the way they can be instruments of environmental
destruction without relevant conclusions. Some failed to give correct
introduction of fossil fuels, explained partially a few usefulness of fossil
fuels but failed to explain the how fossil fuel can act as instruments of
environmental destruction and relevant conclusion. While others managed
to provide correct introduction of fossil fuels, failed to explain usefulness
of fossil fuels but managed to explain the way how they can act as
instruments of environmental destruction.

The candidates who scored from 1 to 6.5 marks lacked focus on the subject
matter. For example, some candidates managed to give correct introduction
of fossil fuels but failed to explain the usefulness of fossil fuels and the way
they act as instruments of environmental destruction. and Some were able
to give partial introduction of fossil fuels; managed to explain a few
usefulness of fossil fuels but failed to explain the way they can be used as
instruments of environmental destruction without relevant conclusion.
While others were not able to give introduction of fossil fuels, fail to
explain usefulness of fossil fuels but managed to explain the way how can
be instruments of environmental destruction. Therefore, the variations of
candidates scores in this category emanated from the fact that the
candidates had diverse strengths and weakness in responding to the
question.

On the other hand, the candidates who scored a O mark manifested
ignorance of the concept of sustainable use of fuel and power. Thus, it was
obvious the candidates failed to provide relevant definition of fossil fuels,
failed to explain the eight usefulness of fossil fuels and the way can act as
instruments of environmental destruction. For example, one candidate
provided a wrong introduction and provided wrong usefulness of fossil
fuels such as: it helps in improvement of science and technology, it is easy
to be controlled, it is affordable, and it improves the social services in the
country. They also failed to explain how fossil fuel can be instruments of

98



environmental destruction by providing answers like: it is difficult to be
obtained or stored, its availability to be found is very low, it provide soot to
the environment and it led to spread of diseases. Extract 6.2 shows a
sample of candidate with poor answers.

99



Extract 6.2
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Extract 6.2 is a sample of a candidate's poor responses. He/she provided wrong
introduction and usefulness of fossil fuel such as improvement in technology is
affordable, easy to control, improve social services and he/she failed to state how
fossil fuel can be instruments of environmental destruction. The candidate ended
up with an irrelevant conclusion.
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2.2.7 Question 7: Manufacturing Industries

The candidates were instructed to analyse eight factors which influence the
location of an industry with concrete examples.

The question was popular, about 94 percent of the candidates attempted the
question. It was the best performed question in Geography paper. 57.5
percent scored from 12 to 20 marks, 41.6 scored from 7 to 11.5 marks, 0.9
percent scored from 2.5 to 6.5 marks. The general performance in this
question was good as 99.2 percent of the candidates scored 35 marks and
above. Figure 7 below illustrates the performance.

0.9%

Scores

M 2.5-6.5 Weak
7-11.5 Average
® 12-20 Good

Figure 7: Trend of Candidates’ Performance in Question 7

The candidates who scored from 12 to 20 marks were able to convey the
subject matter well. The ideas were well presented and consistently related
to the question. The essays were well structured with cohesive paragraphs
and did flow well. For example, some candidates were able to give correct
introduction which ensured that they answer the question asked. They
analysed eight factors which influence the location of an industry with high
level of critical analysis, including different points of view which were
relevant such as: availability of raw materials, power of fuel, transport
facilities, labour supply, capital, market and government support. The
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candidates provided relevant conclusions which included clear summary of
key points. Extract 7.1 is a sample of such a good response.

Extract 7.1
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Extract 7.1 shows a candidate who mastered the subject matter well and
presented the ideas consistently well. The essay is relatively well
structured with cohesive paragraphs and a good flow. His/her conclusion

shows high level of critical analysis.

Furthermore, the candidates who scored from 7 to 11.5 marks showed
moderate mastery of the concept of manufacturing industries especially on
location of industries. For example, some candidates were able to provide
an introduction of industries, analysed partially eight factors which
influence the location of an industry without concrete examples but
provided relevant conclusions. Some managed to give an introduction of
industries, analysed a few factors which influence the location of an
industry with concrete examples and relevant conclusions. While others
provided partial introduction of industries, analysed partially factors which
influence the location of an industry with concrete examples without

relevant conclusions.
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On the other hand, the candidates who scored from 2.5 to 6.5 marks failed
to transfer the knowledge they learnt in the classroom situation but were
able to master a certain amount of ideas. For example, one candidate
provided poor a introduction which in turn led to partial analysis of the
factors which influence the location of an industry, of which some factors
were correct and others were wrong. such as: low population, area with
forest, climate, location which won 't disturb human activities, place where
there are some geographical features, temperature of the area, pressure
and wind blowing. The candidate ended up with irrelevant conclusion.
Extract 7.2 shows a candidate who performed poorly in this question.
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Extract 7.2
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Extract 7.2 represent a sample of a candidate who failed to perform well. He/she
provided wrong a introduction and mixed relevant and irrelevant factors which
influence the location of an industry such as large area, low population, climate,
vegetation, geographical features and the candidate provided irrelevant
conclusion.
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2.2.8 Question 8: Transport and Communication

This question required the candidates to analyse four advantages and four
disadvantages of railway transport. The question was opted for by 53.9
percent of all the candidates of which 23.3 scored from 12 to 20 marks,
44.9 scored from 7 to 11.5 marks, 31.6 percent scored from 0.5 to 6.5
marks, 0.2 percent scored a 0 mark. The general performance in this
question was good as 68.2 percent of the candidates scored 35 marks and
above. Figure 8 below illustrates the performance in this question.
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Figure 8: Trend of Candidates’ Performance in Question 8

The candidates who scored from 12 to 20 marks had good knowledge and
skills on the concept of transport and communication especially on railway
transport. The strengths and weaknesses of the candidates responses led to
variations of marks from 12 to 20. For example, some candidates were able
to give correct introduction of railway transport, they analysed four
advantages of railway transport such as: railway transport passengers,
more load and passengers are transported in a single journey, railway
operating cost is very low and i¢’s not affected with a traffic jam. They
analysed four disadvantages of railway transport such as: railways are

expensive to build, it is not flexible like road transport, it is not suitable for
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commodities which are perishable and they lead to environmental pollution
and provided relevant conclusions. While others provided partial
introduction of railway transport, analysed four advantages and four
disadvantages of railway transport partially. Extract 8.1 is an example of
such good responses.

110



Extract 8.1
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Extract 8.1 represents a sample of a candidate who attempted the question well.
He/she provided relevant introduction, provided advantages and disadvantages of
railway transport.
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Furthermore, the candidates who scored from 7 to 11.5 marks revealed that
they were reasonably conversant with the concept of transport and
communication especially railway transport. However, they were not able
to score above 11.5 marks due to lack of an in depth and broad scope of the
topic coverage, giving generalizations, and lacking in specifics. For
example some candidates were able to provide good introduction of railway
transport as: railway transport involves the carrying of goods and
passengers by train. They analysed a few advantages of railway transport
such as: It is not affected with traffic jam, It is less affected by
unpredictable weather conditions if it is well constructed and few a
disadvantages of railway transport such as: The railways are expensive to
build, It is not suitable for commodities which are perishable like milk and
vegetables. Majority in this group ended their essay with relevant
conclusions.

The candidates who scored from 0.5 to 6.5 marks implied that they were
not competent with the concept of transport and communication especially
on railway transport. Whereas, this was a very popular question, the
majority of candidates in this range of marks lacked focus. Instead of
delineating broadly on the railway transport some focused on the general
concept of transport and communication, which was a much narrower
perspective and as a result they failed to score higher marks. For example,
some candidates were able to provide correct introduction of railway
transport but failed to analyse four advantages and four disadvantages of
railway transport as they mixed up with the general importance of transport
and communication such as: creation of employment, more load and
greater number of people can be transported at a single journey, source of
government revenues, it promote international relation.

The candidates who scored a 0 mark failed to address the demand of the
question by giving generalizations and lacking in specifics. Their
explanations were not clear, or lacked depth and scope of coverage. Many
candidates did not, however, understand that the question was specific on
the railway transport. Thus, they provided incorrect introduction of railway
transport, failed to analyse four advantages and four disadvantages of
railway transport and they provided wrong conclusion. For example one
candidate failed to define railway transport. He/she provided wrong
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advantages of railway transport such as: it leads to international
cooperation, increase of government revenue, growth of towns and cities
and makes goods available when they are demanded. The candidate
provided wrong disadvantages of railway transport such as: loss of human
power, increase in terrorism, cause accident and destruction of culture, and
ended up with irrelevant conclusion. Extract 8.2 is a sample of a poor
response from a candidate.
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Extract 8.2
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Extract 8.2 represents a sample of a candidate who provided generalised answers
on the importance of transport and communication such as: provide employment,
improving standard of living, improving social services etc, instead of advantages
and disadvantages of railway transport.
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SUMMARY OF THE QUESTIONS ANALYSIS IN GEOGRAPHY PAPER
ACSEE 2017

Moderate done
Questions
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3.0 PERFORMANCE OF CANDIDATES IN EACH TOPIC

The analysis of candidates’ performance in each topic shows that,
candidates had good performance in 10 topics out of 13 as they scored 35
marks and above; these topics were:, Manufacturing Industries (99.2%),
Livestock Keeping and Management (98.8%), Sustainable use of Fuel and
Power (97.7%), Agricultural Development (92.4%), Application of
Statistics in Geography (82.5%), The Dynamic Earth and Consequence
(81.6%), Water Masses (77.2%), Simple Survey and Map Making (75.2%),
Transport and Communication (68%), Population and Development
(66.5%), On the other hand, two topics had an average performance. These
topics were Topographic Map Interpretation (59.3%) and Space Dynamic
(49%). Photograph Interpretation had weak performance (22.2%). See
figure below and appendix).

100 - 99.2 988 97.7 974
825 816

772 752

68

88588388

PERCENTAGE OF PERFORMANCE

TOPICS
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4.0 CONCLUSION AND RECOMMENDATIONS

4.1

4.2

b)

As it has been observed in the analysis of questions, the
performance in the Geography subject for Advanced Certificate of
Secondary Education Examination (ACSEE) 2017 was good. The
analysis shows that the candidates' good performance was caused
by the ability of the candidates to identify the demand of the
questions, candidates' sufficient knowledge on the subject matter
and proficiency in the English language as well as computation and
drawing skills. However, the candidates with weak performance
revealed lack of these skills.

RECOMMENDATIONS

Basing on the observation made through the Candidates' Item
Response Analysis (CIRA) report, in order to improve the
performance of prospective candidates in this subject, the following
are recommended.

Graph drawing skills needs to be improved. The graphs need to be
specific as the syllabus instructs. Therefore, teaching graphs, the
skills of data collection and classification, building relations
between variables, and showing these relations through graphs
should be focused on so as to have students make sense of and
ensure easy data interpretation.

Teachers should endeavour to teach the students to avoid
generalisation while answering the questions. This has been
observed in some candidates responses which were too general
instead of being specific. Reference is made on question like
question 8 in paper 2 whereby some candidates explained the
advantages and disadvantages of transport and communication
instead of being specific to railway transport as the question
demanded. Likewise in question 3 in paper 2 candidates were
lacking in specifics. Instead of explaining about population policy
of Tanzania, some of their responses were too general.

Teachers should guide students to go through all the topics across
the Advanced Geography Syllabus so as to make exhaustive
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d)

revision in order to equip them with knowledge and skills that are
needed in answering examination questions. There was evidence
from the analysis of each question to suggest that some aspects were
not adequately covered, as a result candidates provided scanty
information.

The activities outside the classroom should be encouraged and
promoted. In geography, a student learns better if the teaching is
supported by concrete and objective materials that give the student
first-hand knowledge and experience. For example, when teaching
field work a trip to a riverside, a visit to a factory, a forest, some
specimen of seeds, fruits or vegetables, rocks and minerals would
form concrete illustrations in geography lesson and will improve
students’ performance.

Students and teachers should be encouraged to use English language
regularly so as to improve their language skills. This can be done
through various ways including the practices of speaking English
inside and outside the classrooms, during their group discussions as
well as the introduction of essay writing competitions in schools.

Teachers should guide students to gain skills on how to answer
examination questions paper as well as arranging their answers in a
proper way.
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Appendix

PERFORMANCE IN TOPICS

BETWEEN YEAR 2016 AND 2017

COMPARISON OF CANDIDATES’
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